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http://kdd.ics.uci.edu/databases/SyskillWebert/SyskillWebert.html
http://eecs.wsu.edu/~cook/ai/lectures/movies/WarGames1.rm
http://eecs.wsu.edu/~cook/ai/lectures/movies/WarGames2.rm
http://eecs.wsu.edu/~cook/ai/lectures/movies/StarTrekI.rm
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Customcrl03 (time=10)) Customer103; (time=t1) Customer103; (tme=tn)

Sex: M

Age: 53

Income: $50k

Own House: Yes
MS Products: Word
Computer: 386 PC
Purchase Excel?: ?

Sex: M

Age: 33

[ncome: $50k

Own House: Yes
MS Products: Word
Computer: Pentium
Purchase Excel?: 7

Sex: M

Age 53

Income: 330k

Own House: Yes
MS Products Word
Computer: Pentium
Purchase Excel?:




- Customer 103 (time=10) Customer103; (time=t1) Customer103; (tme=tn)

T Sex: M Sex: M Sex: M
Age: 53 Age: 53 Age 53
Income: $50k [ncome: $50k Income: 330k
Own House: Yes Own House: Yes Own House: Yes
MS Products: Word MS Products: Word MS Products Word
Computer: 386 PC Computer: Pentium Computer: Pentium
Purchase Excel?: ? Purchase Excel?: 7 Purchase Excel?”:  Yes -




Product72:

Stage: cook
Mixing-speed: 60rpm Temperature: 325
Viscosity: 1.3

Fat content. 15%
Density: 2.8
Spectral peak: 2800

Fat content: 12%
Densaty: 1.1

Spectral peak: 3200
Product underweight?: 77

Stage: cool

Fan—speed: medium
Viscosity: 1.3

Fat content: 12%
Density; 1.2

Spectral peak: 3100
Product underweight?:
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https://www.techopedia.com/definition/8181/machine-learning
https://www.techopedia.com/definition/33181/training-data
https://www.techopedia.com/definition/23962/codebase
https://www.techopedia.com/definition/3739/algorithm
https://www.techopedia.com/definition/1149/data-structure
https://www.techopedia.com/definition/32755/feature-selection
https://www.techopedia.com/definition/30392/dimensionality-reduction
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Lo & [94,5-] 5[, 5] SRRSO

SR E =0.240 E=0.540 S
i Huamidity ‘ ‘ Wind i
High Normal Weak strong
e [F44-] [E+, 1-] [+, 2-] +3]
S E=00985 E =052 E=08l1 E=L00
Erﬂm (S, Humidity | (reine (5, Wind )
S = BHD - (T/14).985- (TV14) 592 = 0-@/LHELL-(&ldL0
e = 1S] = HE L



101, D2, ... D14}
™3]

Orthoak

Sumaty

i

D DEDEDO DI (D3,D7.012, D3] (34,105,106, D10, 1314}
e [2+.3-] [4+.0-] [3+.2-]

)

Which attribute should be tested here”

Ssumny = (01,0280 0113
Gain (Sgunny - Humidity) = 970 — (3/5)0.0 — {2/5)0.0 = 970

Gain {Squnny - Temperaturc) = 870 — (2/5) 0.0 - (2/5}1.0 — (1/5)00 = 570
Gain (Sgpny . Wind) = 970 - (2/5) 1.0 = (3/5).918 = (19 =
C2P6 - Articial Intelligence in P.A.
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g. 1. IMustration of the overfitting dilemma: Given only & small
sample (left] ejther, the solid or the dashed hypothesis might
be true, the dashed one beinig more complex, but alse having &
grnaller training error. Only with alarge Ssample we are able 10 See
which derisipn reflects the tme distribution more closely, 1f the
dashed hypothesis is comect the solid would underfit (middle); if

B On tmining data —— L e e e e e e e e e e e e e e e e e e e e e

On test data -—— f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:f:
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~* Error=1-Accuracy






http://www.cs.ualberta.ca/~aixplore/learning/DecisionTrees
http://www.cs.ualberta.ca/~aixplore/learning/DecisionTrees/Applet/DecisionTreeApplet.html
http://www.montefiore.ulg.ac.be/~geurts/dtapplet/dtexplication.html





















http://eecs.wsu.edu/~cook/ai/lectures/movies/navlab.rm







































http://eecs.wsu.edu/~cook/ai/lectures/applets/bnn/New38.html
http://eecs.wsu.edu/~cook/ai/lectures/applets/perceptron/index.html
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~node so that output next time would be (closer to) desired



































http://www.sund.de/netze/applets/BPN/bpn2/ochre.html
http://neuron.eng.wayne.edu/bpBallBalancing/ball5.html
http://eecs.wsu.edu/~cook/ai/lectures/applets/nn/e-sample-applet.html
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https://eecs.wsu.edu/~cook/ai/lectures/p.html

